normalized X?

< x2/ndf >

Ratio

[ normalized x? probability |

chi2 chi2_prob
Entries 8955 F--f- "t Entries 8955
- Mean 1161 0.05 Mean 0.479
. Std Dev 0.9517 Std Dev 0.3108
- .ciHZ - ' cuz pm
_____ Entries 5956 0.04] i - [Enties 8956
Mean 1.161 Mean 0.479
Std Dev. 0.9517 Std Dev. 0.3108
chi2 bt Chi2_prob
10 Entries 8988 0.03f . Entries 8988
Mean 1.162 . Mean 0.4793
Std Dev 0.9627 | Std Dev. 0.3109
T 0.02 : :
0.0
o +B)
=
I
4
N N N N N N N N N I
0.95 0.951
0 2 4 6 8 10 12 14 16 18 20 00102030405060708091
X? Prob(x?)
.
T
1.6F- : +
1.4F 1
o | . ].1 |+ 1‘ I
1. 2F-H[ == DQM_voom_Rooooooom Global__mkFit10000__RECO
[ || === DQM_V0001_R000000001__Global__mkFit1000__RECO
IoT | e DOM_V0001_RO00000001_Global_mKkFit1000ATime_RECO
0.8 : : . : :
0.6F
0.4F]
0.2f
1. F
005 ¥ ¥
=3 1 2 3
n

< x2/ ndf >

Ratio

102

< X2/ ndf >

i
T T[T [T [T T I [T TIT T

Ratio

1072

-1
AR(track, jeltS)



	Contents
	Page 1


